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NEW QUESTION 1
Which address facilitates the routing of packets over an IP network?

A. physical
B. transport
C. network
D. MAC

Answer: C

NEW QUESTION 2
What are two standard fiber-optic connectors? (Choose two.)

A. Lucent

B. rollover

C. subscriber

D. multidimension
E. crossover

Answer: AC

NEW QUESTION 3
Which two statements about a SmartJack are true? (Choose two.)

A. It provides signal conversion.

B. It acts as a concentration point for dial-in and dial-out connections.

C. It operates at Layer 2 of the OSI model.

D. It provides channel testing.

E. It regenerates the signal to compensate for signal degradation from line transmission.

Answer: AE

NEW QUESTION 4

Which Cisco CPAK 100GBASE module supports Multimode Fiber cable?
A. Cisco CPAK-100G-CWDM4

B. Cisco CPAK-100G-LR4

C. Cisco CPAK-100G-ER4L

D. Cisco CPAK-100G-SR4

Answer: D

NEW QUESTION 5
How many pairs of copper wire does a UTP cable have?

00 w»
a b wN

Answer: C

NEW QUESTION 6
Which two Cisco Nexus 3400 Series switches support 400-Gbps Ethernet ports? (Choose two.)

A. Cisco Nexus 34180YC

B. Cisco Nexus 34200YC-SM
C. Cisco Nexus 3432D-S

D. Cisco Nexus 3408-S

E. Cisco Nexus 3464C

Answer: CD

NEW QUESTION 7
Which two commands set the configuration register value? (Choose two.)

. rommon>confreg 0x2102

. router(config)#confreg 0x2102

. rommon>config-register 0x2102

. router(config)#configuration-register 0x2102
. router(config)#config-register 0x2102

mooOw2>

Answer: AE
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NEW QUESTION 8
When you deploy Cisco Catalyst 3850 Series switches, which two modes of operation can you choose from?

A. Active mode and Standby mode
B. Install mode and Bundle mode
C. Boot mode and Run mode

D. Exec mode and User mode

Answer: B

NEW QUESTION 9
At the interface configuration prompt, which command returns you to the main configuration prompt?

A. end
B. clear
C. quit
D. exit

Answer: D

NEW QUESTION 10
From a Windows command prompt, which command displays the local IP address of a computer?

A. ipconfiguration
B. ip configuration
C. ipconfig
D. ip config

Answer: C

NEW QUESTION 10
From the enable mode, which command loads the configuration during the password recovery process on a Cisco router?

A. load_helper

B. configure terminal

C. copy running-config startup-config
D. copy startup-config running-config

Answer: D

NEW QUESTION 15
What is the primary method for recovering or upgrading a Cisco network device system image?

A. USB storage

B. FTP

C. the tftpdnld command
D. the xmodem command

Answer: C

NEW QUESTION 19

Which two commands are valid for copying a saved configuration to RAM? (Choose two.)
A. copy startup-config running-config

B. copy running-config startup-config

C. copy tftp running-config

D. copy running-config tftp

E. copy tftp startup-config

Answer: AC

NEW QUESTION 20

Which method is the fastest way to recover a software version that supports a USB flash port on a Cisco device?
A. tftp command

B. xmodem transfer command

C. copy command with USB memory

D. copy tftp flash: command

Answer: C

NEW QUESTION 23

Which command initiates the transfer of a Cisco 10S image over IP from ROMMON?

A. Xmodem
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B. copy tftp: flash:
C. copy flash: tftp:
D. tftpdnld

Answer: D

NEW QUESTION 25
Which router port is used for dial-in access to the router for CLI management purposes and does not usually pass normal network traffic?

A. Fast Ethernet

B. channelized serial
C. AUX

D. Gigabit Ethernet

Answer: C

NEW QUESTION 27
ESD is the sudden and momentary electric current that flows between two objects at different electrical potentials, caused by direct contact or induced by an
electrostatic field. Which three tools are used to avoid ESD? (Choose three.)

A. negative static bag
B. antistatic mat

C. ESD wrist strap

D. negative static mat
E. antistatic bag

F. latex gloves

Answer: BCE

NEW QUESTION 32
Which Xmodem option is used to enhance error checking of an image that is copied to flash memory?
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